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g: i} + 45 + 36 + 27 + 18 + 27 + 18 +9 0 -9 - 18 =17 - 36 -45 - 54 -63

| +127 + 18 +9 0 +9 0 -9 -18 =27 =36 -45 -54 -63 -T2 -El
/I i) + 50 + 40 + 30 + 20 + 30 + 20 + 10 1] -10 =20 =10 =40 350 — 6 =70
1' + 30 + 40 + 10 1] + 10 0 =10 - - 30 —40 =50 - 60 -T0 — 80 —a0
QuALITY | % [it]] + 55 + 44 + 33 + 12 +33 + 12 +11 0 =11 =122 =33 - 44 -55 - b =77
7 G b _ | |TOLERANCE +33 + 22 +11 1] +11 0 =11 - 22 =33 44 — 55 — 66 =77 — 88 -89
HIGH PRECISION, @ / LIE iv) + 62 + 50 +37 + 23 +37 + 25 +12 0 =12 -23 -37 - 50 - 62 -5 - &7
UNHARDENED __(Q‘?" +37 + 25 +12 1] +12 0 -13 -15 =37 =30 -2 -75 - 87 = 100 =112
Og‘rc V) + T + 56 +42 + 18 +42 + 28 + 14 0 -14 -8 -42 - 56 =70 - 54 -9%8
% + 42 + I8 + 14 1] + 14 0 - 14 - 13 -42 - 36 =70 - R4 - 98 =112 =126
@ vi) + &0 + 6d + 48 + 32 + 48 + 32 + 16 0 -16 -3z —48 - 64 — &0 - 96 =112
8 + 48 + 32 + 16 1] + 16 0 - 18 =12 - 48 -hd —E0 - 96 =112 — 128 -144
N EESS HARDENNG - Vi) 00 | +72 +54 +36 + 54 +36 | +18 0 T 36 —s4 —72 ~50 — 108 —126
DISTORTICN + 54 + 16 + 18 1] + 18 0 - 13 - 16 -54 -T2 =90 - 108 =126 =144 =162
wiii) + 100 + EQ + 60 + 40 + &0 + 40 + 20 0 —20 —40 —a0 — &0 — 100 — 120 —140
+ &0 + 40 + 20 1] +20 0 =20 =40 -6l — &0 =100 =120 =140 = 160 - 180
0 % ix} +112 + 90 + 67 + 45 + 67 + 45 + 12 0 =22 -45 -a7 - 580 -112 - 135 -157
+ 67 + 45 +22 1] + 22 0 - 23 - 45 - 67 - 90 =112 =135 - 157 — 180 =202
x) + 125 + 100 +75 + 50 +75 + 50 + 23 1] -25 - 350 =75 - 100 -125 — 150 -175
+ 75 + 50 +25 1] +125 0 -25 =50 =75 =100 =125 =150 -17% = 20Hy =225
X1} +140 +112 +34 + 56 + 84 + 56 + 18 0 - 28 =56 -84 =112 - 140 - 168 =196
& + 34 + 56 + 28 0 + I8 0 - 18 — 56 — B4 =112 = 140 - 168 - 196 - 124 — 152
10 Xii) + 158 + 126 + 485 + 63 +95 + 63 + 132 1] -32 -h3 -85 -128 - 158 — 189 —221
+ 05 + 63 + 32 1] + 32 0 -31 - 63 -95 - 126 — 158 - 189 - 221 — 252 — 284




